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PERCENTAGE Work Sheet

BOOK SOURCE SPLIT UP

S.No TITLE NEW Exercise
OLD
Percentage OLD 21,2.2,23
NEW 21,22,23
OLD 1.1
NEW 1.1
R.S. AGGARWAL Page No: 308 - 373

(2020 Edition)

In mathematics, a percentage is a number or ratio expressed as a fraction of 100. It
is often denoted using the percent sign, "%"

FRACTION PERCENTAGE FRACTION PERCENTAGE
1000/ 0 9 i 0 /0
11

50% 8 % %

33 % % 7% %

25% 7 % %

200/0 62 0/0
3

16 % % 6% %

1429, 5120
7 17
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12 % %

11 % %
10%

1. A Percent = a% =

100
2. a% of b= -2 «xb= b% of a
100

3. Percentage Increase (or) decrease

1. It the price of a commodity increases by R%, then the reduction in
consumption so as not to increase the expenditure is
R__.100|%
(100+R)

It the price of a commodity decreases by R%, then the increase in
consumption so as not to decrease the expenditure is

{ i x100}96

(100—R)

2. Results on Population: Let the population of a town be P now and suppose it
increases at the rate of R% per annum, then:

1. Population after n years = P(1+ %)

P
l+i
( lOOj

3.  Results on Depreciation : Let the present value of a machine be P. Suppose it
depreciates at the rate of R% per annum. Then:

2. Population n years ago =

1. Value of the machine after n years = P (1—%)

kP
- R
( 100)

4. If A is R% more than B, then B is less than A by

2. Value of the machine n years age =
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(1ooR 7100 %
+

If A is R% less than B, then B is more than A by
S -
| (100-R)

x100 |%

Level I

1.

Convert % to percent
a.175% b.17.5% c. 1.75% d. 140%

Convert 28 % % to fraction

2
a. B b. %7

Covert 30 % % to fraction

a. 3 b. 151
10 500

35% of 35
3560 35% &maisb e
a.1.125 b.1.225 c. 0.1225 d.12.25

Anbu scored 436 marks out of 500 in his exams. what was the percentage he
scored?

o6t eretauT 500 H@ 436 aiBSHBlenenTT, elefled Siaufleir AU FHaiHld

a. 83.2% b. 82.2% c. 8.32% d. None of these

There are 50 students in a a class. If 14% are absent on a particular day, find
the number of students present in the class.

aGled o effem 50 TewauTHee0, @B GUIILL Brefled 14% goeisd Gui
aHMS Lflweledenev, elefled SibBHTeNe0 aumHend LfhHeauTseler erewrenildems

a. 36 b. 86 c.7 d. 43

A family cleans a house for pongal celebration by dividing the work in the

ratio 1:2:3. Express each portion of work as percentage.

R GGWUD UTRIBM alpTalBaTe allmL &GS OFuleumdBE Couemevenus 1 : 2
3 el eldHHHHev UHTHEH OsTewiLenT  eleiew, Geouemevulledt  @elGUT(H

UGHDWUID FHAHLOTEH BHT6HISb.

a. 3% %, 1624%, 50% b. 1624%, 331/%, 50%
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C. 16%%, 33%%, 50% d. 16%%, 33%%, 50%

What percentage of a day is 10 hours?
@@ Brefled 10 wewll CHIWD 6THLSHE FHAIHLD.
a. 86% b. 43 24 % c. 41.67% d. 40.25%

Divide Rs. 350 among P, Q, R such that P gets 50% of what Q gets and Q gets
50% of what R gets?

R eteiis puT GQuupeudled 50% 2 Q eeis BU®GD, Q Guuudled 50% o P ereiiys
pLUGL Gupiorsl P, Q, R eeis cpeiim pLTsEnd@ Lfldsayb. (Rs)

a. R=200; P=50Q =100 b.R=200,P=75, Q=125

c. R=100, P =200, Q=50 d. R =100, P =50; Q =200

What rate percent is 2 minutes to an hour?
1 wenfl GHrHFHeL 2 HIOLMIF6T 6IGTLSHH FHATHLD
a.1%% b. 4% C.S%%

48 is 32% of what number?
Q0 elewiewilent 32% elaiugl 48 etafled SibdH eTeuwt 6TesTeNT?
a. 66 % b. 150 c. 66 % % d. 150%

If Q% of Q is 676 Then find Q
Qair Q% syenig 676 aiafled Q &1 HILY
a. 2600 b. 67600 c. 260 d. 65

63% of 7% is

7% @60 63% erei
a.4.3 b. 4.5

66 % % of 50% of 27 is equal to
27 &t 50% &1 66 %4 % & way
a.6 b.12 c.3 d.9

If 75% of a number is added to 75, then the result is the number Itself. The
number is.
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CHENNAI

@ oewiewient 75% o Let 75 &, gl GButd 2i8%H eewt HewLSImEHI  elafled
OIbFH 61601 66016017

a. 50 b. 60 c. 300 d. 400

Level 11

16.

21.

A student secures 90%, 60% and 54% marks in test papers with 100, 150, 200
respectively as maximum marks. The percentage of his aggregate is
o wreweuest 100, 150, 200 & o uls wHICOUeHNTE CaTeni  CxhiTaled
wenmBw 90%, 60%, 54% QupprT eeied Seufler CoTeHs BHTFS Fhaimd eraret?
a. 68 b. 64 c.70 d. none of these

A scored 30% marks and failed by 15 marks. B scored 40% marks and obtained
35 marks more than those required to pass. The pass percentage is:

A eaeueut 30% wHICOUeEIHeT e1BSHSHlenenTT 15  HiGLIewIenTTe0 BHTevallu BT
B eaeueut 40% Oumm, GsTFdl Gumid wHliGuemenem ol 35  HICUGTH6T
SIFHBOTH QUBEIETTT eTefled CHTEFSF FHaispid?

a. 33% b. 38% c. 43% d. 46%

If the difference between 75% of a number and 60% of the same number is
82.5, then find 20% of the number.

@ erewtenfledt 75% S I8 elewienienr 60% S B B 2 eiten alHHWITFID
82.5 eiafled oibs erewrenflen 20% g3 Hmewr.

a. 550 b. 330 c. 110 d. 165

Level of water in a tank is increased to 50 litres from 35 litres in 2 minutes

what is the percentage of increase?
R OFHT Iuled Hewiewihem See] 2 BIOLGHH60 35 adlLifled mbaH 50 eI Ljrs
SFHFMHFBGH 6Tele0, DHBMHEH Hevwrewimel FHOIHD 616516017

a. zsg% b. 423% . 422% d. 15%

Lalitha took a math test and got 35 correct and 10 incorrect answers. What was

the percentage of correct answers?

GUEVIBT  6TETLIOUT  HTedT 6l eh  HewiHCHTaled 35 gflwmenr udHevseEnd, 10
SHOUBTR LIFH60HEHLD 6TH T elelled, SiauT lellds glilwmer uFHeoseller FHaigpbd
61601601 7

a. zsg% b. 713% . 77%% d. 40%

A metal bar weighs 8.5 kg. 85% of the bar is silver. How many kilograms of
silver are in the bar?
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8.5 &.& eemL OFTewi T 2 Geors ulemLuled 85% Geueell eailed ©IFH60
o sitern GleuesiteMullesr eremL?
a.7.125 kg b.7.225 kg c.7.325 kg d. 7425 kg

A tank can hold 200 litres of water. At present, it is only 40 % full. How many
litres of water to fill in the tank, so that it is 75 % full?

QM  Hewtewim QFHTliguien Osmeenene 200 eIl LTseT Su@HWb. SBOUTH IF60
40% sewewfT Birbujeengl. eafed 75% sewieniT OiFed  HevpuiGaieiBoLeNe0
B TemIlD 61HHemeT 0L L TH6lT HewieniT ChHemeuliLipLd?

a. 105 b. 70 c. 35 d. 25

The value of a machine depreciates at 10% per year. If the present value is X
1,62,000, what is the worth of the machine after two years.

R Bupdrsdear  sBCuTemsw  wHY  qp 162,000 @euiGeurm  SLeHIBHSD
oelupdrsdar  wHiy 10% Gopsps el Qe BB HHHS
SlealWbHTHHeT HIL 6eTedTeot?

a. 113220 b. 14580 c. 131220 d. 129600

If the first number is 20% less than the second number and the second number
is 25% more than 100, then find the first number.

(pFH6e0 6TewT ekl QJewiLmb eTewienemiall  20% @Genme]. SJewILmTID 616w LIS
100 &3 ol 25% 9150660 (IPH6L 616WT 6T60T60N?

a. 540 b. 100 c. 200 d. None of these

A spider climbed 62% % of the height of the pole in one hour and in the next

hour it covered 12 %% of the remaining height. If the height of the pole is 192
m, then distance climbed in second hour is :

Qb FeubIHunerdl @ HbUSHeT o wFsHHed 62 %% FHNHHMDH @H  LO6wf
Cpisdsd guid oiBss 9n well CrisHsd Baueien o wysdded 121 % gmb.
sbusbHer o wgd 192 15, erafled FevbFHwmerd 26k 1oewil CHIHHe0 el6laleNe)

o wyb gBl SksEh?
a.3m b.5m c.7m d.9m

If the price of petorl is increased by 30%, by how much percent a car owner
must reduce his consumption in order to maintain the same budget?

QUL Gymedest alemev 30% oiFHafdbsiiubdpa. smier o Mevwwrent i85 GFevalsd
QUL Gymemev OFHTLY GeuewiBld el o LBWITHSHHED 6T6lleu6Ne)| HMBHHISH GHT6lTeN
Geuemt(BHLD?
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a.21%

Level - II1

27.  An alloy consists of 30% copper and 40% Zinc, and the remaining is nickel.
find the amount of nickel in 20 kilograms of the alloy.
o 2 Gouras seveneuuled 30% amiumb 40% ris-b 2 _elengl.  BSH(Lp6iTeTene
BHHe0 L. 20 HF 2 GeuTdssse0meuuned HiEHeI6 6lenL 616161616, ?

a.8 kg b.12 kg c. 14 kg d. 6 kg

How much pure alcohol has to be added to 400 ml of a solution containing
15% alcohol to change the concentration of alcohol in the mixture to 32%?

400 1069 2 eiten  seveweuuled 15% gevmamTeL o eitengl.  BFmer  32%
DLEVHABTEL 2 _6IT6M  HeVEMGUWITS OTMM  6T6leU6Te]  HTU LSBT0 CFTehs
Gouewr(pLb.

a. 60 ml b. 68 ml c. 100 ml d. 128 ml

One type of liquid contains 20% water and the second type of liquid contains
35% of water. A glass is filled with 10 parts of first liquid and 4 parts of second
liquid. The percentage of water in the new mixture in the glass is:

WHe0 amd FHrausHed 20% BT 2 eengl. @UILTD eauend Hyeudhdev 35% i
® 6iTeNGl. Qh Geueenuied (IpgHe0 SHyauld 10 LRIGD, BTWILTD SHJaud 4 UBIGLD
OaTewiGD BFUULLGESBSE. CTHFHD DbHH GHeusmenuled 2 eien HfleT FHaipld

a. 20% b. 24%% c.37% d. 40%

Amit's monthly income is 30% more than that of Raunaq. Raunaq's monthly
income is 20% less than that of Deepak. If the difference between the monthly
incomes of Amit and Deepak is Rs. 800, what is the monthly income of
Raunaq?

oIl  aaiueufle THaU(HOTND  Jemd ey ol 30% oHsb.  Fems
ereUaufledt oTHepIOTED SHudb eailamy el 20% GBey. Hus OBBID OG-
DTS GUBLOTETSHSH6T alSHHWTED b 800 elelled J6olmes - 631 LOTH6U(HLOTEILD

a. Rs. 12,000 b. Rs. 16,000 c. Data inadequate d. None of these

From a container having pure milk, 20% is replaced by water and the process
is repeated thrice. At the end of the third operation, the milk is:

QU UTHEHTID (pupeugid mul umed o etengl. SiFHev 20% umemev OGeauefiBui 61(BH
968 SleNaydbE bBITeL BHILUNILGSBEH. BDbHH OCFwed(WenB OGLTHHOTS 3 (LPeOM
HOL OLIBISIMBHI.  6Telled cLpeiBTaud (Wedmulledl (WIgaled e6lalaleTa LITeL UTSHST&HEH 60
BmaE1D?

a. 40% pure b. 50% pure c.51.2% pure  d.58.8% pure
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In an examination, 34 % of the students failed in Mathematics and 42 % failed in
English. If 20% of the students failed in both the subjects, then the percentage
of students who passed in both the subjects was.

Q0 BxTaled 34% TewiauTaell SanlBHHHeID, 42% DTEHITHGT OB 6V5HSEID
Camevalenw Hupailernt. 20% wmewieuTser SHUTL SHD BFHTeval  SIEWLHBHTTHE
aadfled @ UTLSFHeuD BCaHTFd vl hHeuTHeler allelsHd eTeitenr?

a. 44 b. 50 c. 54 d. 56

In an examination, 65% students passed in Civics and 60% in History, 40%
passed in both of these subjects. If 90 students failed in History and Civics
both, then what is the number of students?

@ Gaaled 65% wrewiaiser  Glgenwouiweded 60%  TewIaITH6T — aUF6OTHI
utLHHd Cxiedl oimLbsert. 40% orewauTsel @rewi® UTLHHed Cairsd
SIML b . Qresd 90 wrevealTssT @yewi(h UTLSHHd BFHmeval SIenLHSHTTH6N
aTedlleL QIDTHSHID 2 _61T6N  LOTENTEUTEH6IT6HT  6T6u0T6NT b6n D

a. 600 b. 650 c. 700 d. 750

The numerator of a fraction is increased by 20% and denominator of that

fraction is decreased by 20%. the Fraction obtained is g What is the original

fraction.
Qmp Ugesdea  OstgHurargh  20%  odsfssiubAps. Si@ienL W
ugHwrengl 20%  GHmBSSILGHBLH. BHemed Henl SHalIGLBID da&mmb% eT6uTl6v,

WPFH6e060 BHHSH 2 6wIenLDUITen LT6T6D 616316017

8 12 16 36
a. — b. = c. — d. =
15 5 15 55

In an election between two candidates, one candidate got 62% of the total
votes and won by 432 votes. What is the total number of votes casted in the
election?

R BxTxelsd B Geul umenTsefled @mauT GOTHEH amsGHeies 62% GuBmy,
432 andG®e  alHHUTFHHeo OGeupmd  QummnT. eefled, uFHleurer  GOTHS
QUTE(FHB6ITGOT  6T600T 6001 b6 B

a. 684 b. 1116 c. 1800 d. 504
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PERCENTAGE WORK SHEET-

ANSWER

4

5

6

7

D

D

D

D

14

15

16

17

D

C

B

A

24

25

26

27

B

D

C

D

34

35

A

C
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